[ Efficiency vs vertpos |
0.5

SRPE U - S— —
g E : : :
| A A e e

R — —

efficienc
TTTT

1 SRS F— S— —

................................................

0.25F : : .
0.2F e P e + ------------

N S AL - +i ------------

0.0 i
;..%M
0TI

i JFSREGdNNt 45 1l
ir L[ BANRESARRAI A
1072 101 1

Ratio

10 0?
TP vertr (cr%)

IC{HP ggn..n{vmu. +6p0evt
ﬁégé %%igﬁ TEORSLTLIER 1000ewt

—ehoC

11111

Efficiend —— %g

~ 0.5
S 0.45¢

o F
= 04:—
Co 35F
é 0.3f
[©] o
0.25E
0.2F
0.15
0.
0.05F
o O
S sk
L

-30 -20 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~0.05
>
80.045
£
=004
‘:’éoss
coos
@ozs
0.02
0.015F---- JAERE 2 1R NIAGH S
000+ efibeed b LB L
0.005 : URPUUURRE SO A

Ratio

5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


